KARTLARL

\

TABLOSU

\

CARPIM

(

\( r \( r \( \( ™

O

Lx1:4y
UxZ:8
Ux3:12
Lx4:-16
Ux5:=20
Lxe:=24
Ux7:28
|5 x8:=32
LxG8:3€
|| 4x10 = KO

O

5x1:=5%

5x2:10
5x3:15
Sx4:20
5x5:25
£x6:30
5x7:3%
x€:40
£x6:=48
5x10 - 50
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6x1:=6
6x2:12
Ex3:18
Ex4:=24
Ex%:30
Ex6:=3€
Ex7:42
Ex&-4E
ExG=54
6x10 = 69
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7x1:=7

Tx21:=14
7x3:=121
Tx4:28
7x5:35
7x€:=42
TX7:48
7XE:56
7xG8:€3
n10:70
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gx1:8
8x2:16
Ex3:=24
Ex4:312
Ex5:40
EXx6:48
8Xx7:56
§x8:64
8§x9:=72
8x10 - 80
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9x1:9

Ox2:18
9x3:11
9x4:=36
Ox5:=45
Sx6:=54
Ox7:63
0x8:71
gx9:81
Gx10 =90
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10x1:10
10x2:20
10 x 3 = 30
10 x 4 = 4{l
10x5:=50
L0 X6 =60
10x7:=70
10 x &= 80
10x9:=90
10x10 = 100
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